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Market True-Up Facts and Procedures

Summary:
This document provides an outline on how to perform a market true-up to resolve discrepancies resulting from workaround activities due to market gaps and general system errors.   
Prep activities:

Market buy-in and support will be required prior to beginning this process.

1. TDSPs need to provide a list to each CR of all ESIIDS that CR owned or did own.  This list should include the begin date and end date (if applicable) for that CR.

2. ERCOT needs to provide the same list for each CR by TDSP.
3. CR needs to take both lists and identify accounts that are not in synch.
4. The list can be divided by ESIID type (with the market deciding to prioritize by type), or date effective by month.
Ground Rules:

1. Ahead of an actual true-up meeting, the discrepancies need to be sent to ERCOT so that they can true up whether or not there is pending order for that ESIID or if another CR already owns the ESIID.

2. The discrepancy list for the CR will also be sent to the TDSP and ERCOT and each Market Participant must provide what the read dates are within their respective systems. As disputes are resolved, read dates will be used to determine effective dates of switches. No manual updates will be performed without a matching read. (All read dates should be based on actual accepted usage).

Risks:

1. Potential discrepancies could be due to timing issues of when Market Participants run their list and perform the true up.  

2. QSEs may be out of the true-up loop due to manual processing.

a) CR needs to ensure that the QSE is notified of any manual updates.

3. There will be market contention for ESIIDs that multiple CRs claim ownership over. 

a) This will require resolution on a case by case basis.

b) The resolution may require contact with the customer.  

c) There will need to be a predefined set of rules the market agrees on to work through resolution of disputes. Every market participant needs to agree and adhere to these rules.

4. Corrections may involve resending of multiple retail transactions. This may be a significant quantity.

a) Example:  814_20s (Create/Maintain ESIID) or initial/final usage may need to be resent as part of the reconciliation.  Currently there is no prioritization of transaction being re-processed as part of the reconciliation. 

5. Not all Market Participants have to or will participate or prioritize the reconciliation process. 

6. The Market Participants will resolve the issues for the ESIIDs but will not address the overall market issues.

7. The reconciliation will affect customer billing.  The TDSP and the CR will need to have procedures in place to deal with billing discrepancies.  

8. The reconciliation may occur after the settlement process has completed.  The market will need to determine how to re-settle for periods already completed.   

9. Reconciliation will need to occur multiple times until market stabilizes and potentially even long term.

10. Reconciliation may be too large. May have to divide reconciliation up into all pilot first to gather and apply lessons learned.

11. This reconciliation only covers current and past relationships. Another may need to be performed for pending transactions.

Possible Discrepancy Scenarios

1. TDSP and CR match, ERCOT does not – ERCOT has no pending service order for that CR or any other CR, and the CR of record is the AREP
a) Possible Cause:
i) Move-in Safety net
ii) Possible system error or manual intervention
b) Fix:  
i) ERCOT should manually update their system
ii) Once updated, actions should be taken to correct the information and cancel/rebill as required at both CR and market level

2. TDSP and CR match, ERCOT does not – ERCOT has no pending service order for that CR or any other CR, but the CR of record is NOT the AREP
a) Possible Cause:
i) Move-in Safety net
ii) Possible system error or manual intervention
b) Fix:  
i) All parties need to meet to determine who has the customer
ii) Once determined, actions should be taken to correct the information and correct billing at both CR and market levels as required
3. TDSP and CR match, ERCOT has a pending service order for another CR
a) Possible Cause:
i) 867 Contingency plan – CR gets the usage directly from the TDSP
ii) Move-in Safety net with manual intervention to complete (CR has manually created usage for billing)
iii) Possible system error or manual intervention 
iv) Unmatched pairs (No market protocols which govern when a switch and move-in or a switch and move-out etc. occur on the same account).  (**ERCOT SIR #6153 has temporarily prevented new incidents of unmatched pairs from occurring.)
b) Fix:  

i) ERCOT needs to compare the dates of the CR in question and the requested date from the other CR

(1) If these dates do not seem to conflict:

(a) ERCOT should inform all parties of the dates, if everyone agrees, all parties need to update the begin date and end date

(b) If parties do not agree, further discussions will need to occur

(c) CR and market level billing corrections would need to occur once decision has been reached

(2) If the dates seem to conflict:

(a) Further discussions will need to occur

(b) CR and market level billing corrections would need to occur once decision has been reached

4. TDSP and CR match, ERCOT has no record of the ESIID
a) Cause:
i) Move in Safety net with ESIIDs that have not yet been sent to ERCOT or they have been sent to ERCOT and they have been rejected.
b) Fix:  

i) 814_20 must be sent to ERCOT.  Once processed, the relationships can be manually created at ERCOT

ii) Market needs to determine method of increasing the performance of 814_20 processing

iii) CR should instill procedures to ensure that the ESIID exists at ERCOT prior to submitting the order (currently Move-In safety net circumvents this procedure and this may require CR system modifications)

iv) Market level settlements need to be reviewed
5. TDSP and CR match, ERCOT has a pending service order for that CR
a) Possible Cause:
i) 867 Contingency plan – CR gets the usage directly from the TDSP
ii) Move-in Safety net with manual intervention to complete (CR has manually created usage for billing)
iii) Possible system error or manual intervention 
b) Fix:  

i) TDSP should send the completing usage to ERCOT

ii) ERCOT should monitor to ensure order is completed

iii) CR should ensure usage date matches the sent TDSP usage

iv) Market level settlements need to be reviewed

6. CR has the order completed, but ERCOT and TDSP don’t have the order completed.  No conflicting orders or ownership 

a) Cause:
i) 814_03 never made it to the TDSP
ii) 814_04 never received back from the TDSP
iii) 814_04 Reject received back from TDSP
iv) 814_04 was rejected by ERCOT
v) 867 Contingency plan – CR gets the usage directly from the TDSP
vi) Possible system error or manual intervention
b) Fix:  

i) The order can be cleared out of all systems and resubmitted (this may require backdating (not applicable for switch 814_01) and/or further contact with the customer for a new date) 

-or-

ii) All parties update their systems to reflect the proper ownership

-or-

iii) Transactions can be assisted through to complete the order

-or-

iv) ERCOT can redrop the transaction if error due to ERCOT system error

v) Once updated, actions should be taken to correct the information and cancel/rebill as required at both CR and market level

7. Effective dates are different across CR/TDSP/ERCOT

a) Possible Cause:

i) CRs are manually creating usage in their system in order to bill the customer

b) Fix:  
i) Everyone comes prepared with the dates of usage that they have received/created.  However, if the Market Participant doesn’t have usage for the agreed upon date then usage will need to be resent
ii) If all market participants have the agreed upon date, then whoever is out of synch will update their system
iii) Once updated, actions should be taken to correct the information and cancel/rebill as required at both CR and market levels

8. TDSP and ERCOT match, but CR does not.  No conflicting orders or ownership. Association to CR through conversion

a) Cause:
i) Conversion issue or assumption in transferring service to AREP
b) Fix:  

i) AREP needs to take ownership of the ESI ID at the time of conversion
ii) Once updated, actions should be taken to correct the information and correct billing as required
9. TDSP and ERCOT match, but CR does not.  No conflicting orders or ownership. CR is not POLR and is either winning or losing CR

a) Cause:
i) TDSP sent only 867_03 final or 867_04

ii) 867_03 final or 867_04 was rejected at ERCOT

iii) 867_03 final or 867_04 was rejected at CR

b) Fix:  

i) TDSP needs to resubmit 867_03 final or 867_04
or-

ii) CR needs to update his system to reflect the proper ownership

-or-

iii) Transactions can be assisted through to complete the order

-or-

iv) ERCOT can redrop the transaction if error due to ERCOT system error

v) Once updated, actions should be taken to correct the information and cancel/rebill as required at both CR and market level

10. TDSP and ERCOT match, but CR does not.  No conflicting orders or ownership. CR is POLR

a) Cause:
i) POLR rejected drop to POLR notification (814_14) due to insufficient customer information. For example, drop notice has a name field of "PREMISE" instead of customer name.  The POLR rejects the 814_14
b) Fix:  

i) Old CR needs to resend customer information. As transactions have completed, likely this will require manual entry or work around solution at POLR and old CR
ii) Once updated, actions should be taken to correct the information and correct billing as required
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